In recent years, climate change raise the world attention
The mechanism of emission trading schemes is about limit the level of emitting polluted substance, the government issuance emission credits to firms, the credits are permissions for firms to emit polluted substances. Once a firm polluted over the given amount will subject to penalty. In addition, the emission allowances credits are able to trade in the market, which means firms can buy and sell the credits to satisfy their own needs. This function bought flexibility to companies in allocating their allowances. And it also bought difficulties to arrange appropriate treatments to deal with these items in accounting aspect.

To consider which category should the pollution allowances belong, it is essential to under their natures. Let the board game Monopoly’s ‘Get out of jail free card’ as example, as there are plenty similarities between them. Both of them are granted from the authorities, players who are given by the card can get out of jail free of charge instead of paying bails as mentioned. Players who own the card can choose to retain it for future own use, sell it to other players or even put it into auction. So undoubtedly, in the game, the card is being treated as assets like other properties. But in reality, there are few factors that make the allowance credits not count as typical assets.

In IAS GAAP, an asset is a resource that is controlled by the entity as a result of past events, that is granted from the government, and from which future economic benefits are expected to flow to the entity, the amount save in paying penalty or profit gain from trading those credits could be counted. And finally, for an intangible asset to be recognised, the future economic benefits must be ‘probable’ and it must be possible to measure the cost of the asset reliably. (Alexander, D. et at 2009)

The pollution allowances are basically matching the basic requirement of being assets, however, their initial recognition may not able to calculate accurately, and there are two methods to recognise an intangible asset, the revaluation treatment which records the allowance credits at their fair value. IAS 38 state that ‘the revaluation treatment may be applied to an intangible asset received by way of a government grant and initially recognised at a nominal amount’ this implied the allowances credits may record as assets in their fair value refer to the price of their active market. IAS 20 also state that ‘ government grants record in fair value should not be recognise until there is reasonable assurance that the entity will comply with the condition attaching to them’ (Alexander, D. et at 2009) , this could means firm will only have to recognise the allowance credits when they are intent to sell the credits. In addition, according to the consistency principle, allowance credits granted should carry equal value to those bought from market if they are homogeneous.

Unlike Monopoly’s case, which the entity may not get into jail throughout the whole game, obligation arose once the firm start to produce polluted substances, which cannot be escape and prevent for a operating companies, certain amount of allowances will deliver and return to the government periodically. As a result, there is actually opportunity cost for holding and retaining the allowances credits for future use or selling them that is not giving back to the government, the opportunity cost would be the amount of penalty.

It is believed that no single approach can fit every business perfectly, assume majority companies that entitle to the pollution allowances are belong to the manufacturing sector, this mean trading the pollution allowances for profit is certainly not include to their core business. In the following paragraphs, two methods will be introduce, to divide firms into two groups with different desires and purposes, which are firms who keep the pollution allowances for business own consume and firms that treat the allowances credits as investment products.

The first method is excluding the allowances from the balance sheet, the allowance credits are not given any monetary value, they are not likely to appear in the final account unless the business do need to pay government penalty or have to purchase extra allowances credits. The amount of pollution allowances spent will withdraw from the allowances credits account in the general ledger directly. No recognition process has to be done. The firm only have to be aware of whether the allowances hold in hand are sufficient for actual consumption (emission). If the actual emission exceed, amount of purchasing extra credits would consider as expense.

In this approach, pollution allowances are treat as commodity without monetary value to offset the emission quota, they would not be shown in the balance sheet and because the credits will subtract straightaway without the need of recognition, value would not be create ‘unreasonably’. It is more appropriate to apply this approach to firms who retain their entitled allowances to offset their potential expenses rather than holding them for additional profit. Financial situation of a business will not be over-estimate as the value of the allowances would not be valuated. Though, there is a drawback in this approach, the credits will not appear in the final account, stakeholders of company especially shareholders may neglect what impacts and consequences do the emission trading schemes bought to the business, they may omit the fact that the schemes are unfavourable to the growth of the company, as if the firm cannot emit ‘enough’ polluted substance, its production scale would be limited and bound.

Second method is to treat the pollution allowances as intangible assets and reveal in balance sheet. There is no direct accounting treatment to subtract the value of the credits, as deducing the value of an asset could only be done by creating a provision or reserve, also, revaluation process would implied. After the initial recognition model is apply to the allowances credits, the value of the total assets will increase which also raise the value of equity. This method is more suitable for companies who sell credits for profit, businesses with no intention to limit and regulate their emission will suffer from heavy cost burden for acquiring additional allowance credits or even paying penalties. Consequently, they are encouraged to not just buying the amount of credits they need, but also buy more at low and sell at high, this assist to compensate and subsidises the cost spent in this area.

Since the value and all relevant information of asset hold by a listed firm must be disclose to the public, there will be more chances for the business’s shareholders to aware that how environmental problems are affecting the operation of the business. By using the recognition model, companies are using fair value based on their market process in this case, to evaluate their entitled credits, the value of asset and equity will affected by price changes in the pollution allowances market which mean companies may suffer or enjoy the price fluctuation in the pollution allowances market.

Presenting those credits in balance sheet implicate further consequences to the business in different perspectives.

The ETS is a create base on social prospective, governments will reserve all rights, they may terminate the schemes at all times, and because all allowances credit are granted from governments initially, companies are not like able to compensate for the lost in this perspective. Also the price of the carbon credits is largely depend on the quantity amount of credit issued on the following year, a loose cap will result in price drop in the carbon markets. Although it is predictable the penalty for firms emitting excess carbon will rise over period, than it can assume the value of credits will tend to rise, there are still risks of holding the allowance credit for investment purpose.

Fundamentally, the cap and trade approach have worsen business’s operation condition, accountancy have capitalise the fine derived allowances into an asset, twist a thread into a profitable opportunity, shifting the stakeholders attention from cap to trade. Companies are giving optimistic hope to their shareholders, by transforming threats into profitable investment opportunities. This suggestion has already broken the principle of prudence.

There is an important question first of all, why the allowance credits were built to be tradable, it is clear that governments want to provide a cost and value to them, and inducing companies to trade the carbon credits, also it is a confirmation that the companies are truly owned the credit despite they will eventually return to the government’s hand. Though, only firms will suffer the risk if they trade the carbon credits.

The real message, restriction on pollution will become tight ultimately, have been hidden, instead, IASB Framework allow firms to emphasize only on the potential income made from the schemes, it also capitalise those allowances that suppose to offset the penalty, realise every possible items to generate values in order to widen the basis of equity, providing companies large amount of mortgage which leverage their investment, opportunism behaviours are encouraged, in order to present a better performance and show the management group’s ability in gaining profit,. Asset bubbles generated and if economic circumstances change, another credit crisis may occur.
